In	Out
A) 4	A) 2
B) 1	B) 0

# Inmates by Facility: WCSO: 62 D&E: 0 Other: 0 TOTAL: 62

		minates by Facility. WCSO: 02		_		-	
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
1	Wright, Dawson R. <b>BPD</b>	Burglary, Terroristic Threats, Strangulation, Attempt of Class 2 Felony, False Imprisonment, Child Abuse, Obstructing Police	09-02-24 2258	WCSO	01-25-99		\$1,000,000.00 10% \$100,000.00
2	Trisdale, Shad W. <b>BPD</b>	3 <sup>rd</sup> Degree Domestic, Assault by Strangulation, Obstructing Police, Resisting Arrest, 1 <sup>st</sup> Degree False Imprisonment, Attempted Assault on Officer	07-16-24 0618	WCSO 09-17-24	01-24-90		\$100,000.00 10% \$10,000.00
3	Kozol, Kenneth E. <b>BPD</b>	2 <sup>nd</sup> Degree Assault, Obstructing Police, Use of a Weapon to Commit a Felony	08-30-24 0040	WCSO	04-17-69	X X	\$10,000.00 10% \$1,000.00
4	Aurand, Zachery L. WCSO	DUI 1 <sup>st</sup> Aggravated	09-11-24 0028	WCSO	10-21-85		\$7,000.00 10% \$700.00
5	Kellogg, Billy B. WCSO	Driving Under Suspension	09-08-24 2310	WCSO	06-15-85		\$4,000.00 10% \$400.00
6	Elbeyaly, Yasien E. <b>BPD</b>	Assault 2 <sup>nd</sup> Degree x3, Criminal Mischief, Willful Reckless Driving, Child Abuse Intent No Injury, Terroristic Threats, <b>Warrant</b> - Unlawful Intrusion	08-17-24 1913	WCSO	07-06-05		\$50,000.00 10% \$5,000.00 <b>NO BOND</b>
7	Logan, Elijah E. <b>WCSO</b>	<b>Warrant</b> - 1 <sup>st</sup> Degree Assault, Use of a Weapon to Commit Felony, N/C Victim	05-15-23 1515	WCSO 10-25-24	06-29-00	X X	NO BOND
8	Collins, William P. WCSO	Warrant- Burglary, 1 <sup>st</sup> Degree Assault, Theft By Unlawful Taking, 1 <sup>st</sup> Degree Murder, Stolen Firearm Prohibited Act, Use Of A Deadly Weapon To Commit Felony x2	09-14-23 1723	WCSO 09-30-24	07-25-93		NO BOND
9	Williams, Kierre L. <b>WCSO</b>	1 <sup>st</sup> Degree Murder, Use of a Weapon to Commit a Felony	12-10-23 1443	WCSO 09-30-24	08-02-80		NO BOND
10	Fannan, Wyatt A. <b>WCSO</b>	Warrant- Issuing a No Account Check	09-07-24 1143	WCSO	12-18-99		NO BOND
11	Morris, Alana B. WCSO	Warrant - FTA	9-10-24 1426	WCSO	05-26-01		NO BOND
12	Tyson, Joel J. WCSO / Sentenced	DUI 3 <sup>rd</sup>	08-20-24 0955	WCSO	12-11-84		<b>Release Date</b> 09-25-24 @ 0800

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
13	Smock, Joseph A. WCSO / Sentenced	DUI 3 <sup>rd</sup>	09-04-24 1045	WCSO	03-21-92		<b>Release Date</b> 09-27-24 @ 0800
14	Seibert, John W. WCSO / Sentenced	Warrant- FTA for District Court	06-18-24 1448	WCSO	05-19-83		<b>Release Date</b> 10-02-24 @ 0800
15	Vogt, Mark A. WCSO / Sentenced	DUI 3 <sup>rd</sup>	08-14-24 1442	WCSO	09-08-74		<b>Release Date</b> 10-05-24 @ 0800
16	McCann, Austin J. WCSO / Sentenced	Warrant- Theft by Unlawful Taking	07-03-24 1612	WCSO	10-14-00		<b>Release Date</b> 10-04-24 @ 0800
17	Crotty, Bree A. WCSO / Sentenced	Warrant- FTA for District Court	09-03-24 1950	WCSO	10-17-84		<b>Release Date</b> 10-15-24 @ 0800
18	Allen, Andrew J. BPD / Sentenced	Warrant- FTA for Probation Violation	07-11-24 1007	WCSO	05-20-82		<b>Release Date</b> 07-16-25 @ 0800
19	Kunce, Elizabeth K. <b>Dodge Co</b>	<b>Dodge Co Warrant-</b> Amphetamine Possession, Poss. Controlled Substance x4	06-04-24 0851	WCSO	11-13-81		\$250,000.00 10% \$25,000.00
20	Maslonka, Kami J. <b>Dodge Co</b>	<b>Dodge Co-</b> Poss. Controlled Substance, Poss. of Deadly Weapon to Commit Felony, DUI 1 <sup>st</sup>	08-06-24 0945	WCSO	04-12-75		\$100,000.00 10% \$10,000.00
21	Martinez-Maldonado,Alondra V. Dodge Co	<b>Dodge Co-</b> Tresspassing 2 <sup>nd</sup> Degree, Distrubing the Peace, Poss. of Controlled Substance	09-02-24 1002	WCSO	04-12-96		NO BOND
22	Leadingham, Amanda R. <b>Dodge Co</b>	Dodge Co- DUI	09-06-24 2052	WCSO	03-08-92		NO BOND
23	Rojas, Vanessa S. Dodge Co / Douglas Co Hold	<b>Dodge Co Warrant-</b> FTA <b>Douglas Co</b> <b>Warrant-</b> FTA	09-04-24 0922	WCSO	06-07-80		NO BOND Douglas Co – NO BOND
24	Lucas, Alyssa L. <b>Dodge Co / Sentenced</b>	Dodge Co- Bond Revocation	08-12-24 1410	WCSO	12-31-92		<b>Release Date</b> 09-16-24 @ 0800

Signed:

	Name	Charges	Received Time	Housed/ Scheduled Court Date	DOB	P O	Bond Amount/ Release Date
25	Rivera, Abril T. Dodge Co / Sentenced	<b>Dodge Co –</b> DUI 1 <sup>st</sup>	09-10-24 1613	WCSO	04-23-03		<b>Release Date</b> 09-16-24 @ 0800
26	Osterloh, Brittany E. Dodge Co / Sentenced	<b>Dodge Co -</b> DUI 1 <sup>st</sup>	09-10-24 1613	WCSO	07-06-99		<b>Release Date</b> 09-16-24 @ 0800
27	Montanye, Quintanna R. Dodge Co/ Sentenced	<b>Dodge Co-</b> Attempt of Class 4 Felony	09-09-24 1732	WCSO	12-04-86		<b>Release Date</b> 09-26-24 @ 0800
28	White, Carrie L. <b>Dodge Co / Sentenced</b>	<b>Dodge Co-</b> Attempt of a Class 4 Felony	08-27-24 1631	WCSO	03-17-82		<b>Release Date</b> 10-04-24 @ 0800
29	Wiese, Kiara R. Dodge Co/ Sentenced	Dodge Co- Child Abuse	09-09-24 1716	WCSO	10-30-02		Release Date 2 Years
30	Bartels, Stephanie M. Lancaster Co/Custer Co Hold	<b>Lancaster Co-</b> Poss Controlled Substance x2, Distrabution Controlled Substance Within 1000 Ft of a School x4, Aiding and Abetting Class 1D Felony x2, Poss of Money While Violating, <b>Custer Co Warrant</b> -DUR	08-10-24 0935	WCSO	02-01-94		\$1,000,000.00 10% \$100,000.00 \$10,000.00 10% \$1,000.00
31	Duell, Kalyn B. Lancaster Co	Lancaster Co- Poss. Controlled w/ Intent to Deliver x3, Child Abuse	05-31-24 1126	WCSO	01-05-01		\$500,000.00 10% \$50,000.00
32	Fitzgerald, Kaitlin B Lancaster Co / Hall Co Hold	Lancaster Co- Poss. Meth w/ Intent to Deliver, Poss. Money While Violating, Tamper with Evidence. Hall Co- FTA	08-02-24 1035	WCSO	11-01-91		\$200,00.00 10% \$20,000.00 Hall Co-\$3,5000 10% \$350.00
33	Mixon, Janet D. Lancaster Co	Lancaster Co Warrant- FTA Lancaster Co- Poss. Meth w/ Intent to Deliver, Poss. of Money While Violating, Poss. w/ Intent to Deliver Hazardous Drug	08-02-24 1006	WCSO	03-21-83		\$150,000.00 10% \$15,000.00
34	Williams, Vanessa N. Lancaster Co	Lancaster Co- Motor Vehicle Homicide	08-30-24 1108	WCSO	12-21-93		\$150,000.00 10% \$15,000.00
35	James, Lorinda A. Lancaster Co	<b>Lancaster Co-</b> Poss. Firearm By Prohibited Person, Poss. Controlled Substance X2, Operate Motor Vehicle to Avoid Arrest	08-02-24 1016	WCSO	09-11-78		\$150,000.00 10% \$15,000.00
36	Patak, Stephanie M. Lancaster Co	Lancaster Co- Poss. Controlled Substance, Poss. Firearm by Prohibited Person	06-06-24 1544	WCSO	05-21-78		\$100,000.00 10% \$10,000.00

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
37	Barker, Breeana E. Lancaster Co	Lancaster Co- Poss. w/ Intent to Deliver	08-20-24 1021	WCSO	02-07-98		\$100,000.00 10% \$10,000.00
38	Dominguez, Alyssa P. Lancaster Co	Lancaster Co- 2 <sup>nd</sup> Degree Attempted Assault	09-03-24 1011	WCSO	05-11-00		\$50,000.00 10% \$5,000.00
39	Cook, Kyla J. Lancaster Co	<b>Lancaster Co-</b> Domestic Assault 3 <sup>rd</sup> Degree, Poss. Controlled Substance x2	08-02-24 1113	WCSO	07-29-92		\$35,000.00 10% \$3,500.00
40	Murphy, Kimberly D. Lancaster Co	Lancaster Co Warrant- FTA	08-30-24 1203	WCSO	05-26-84		\$10,000.00 10% \$1,000.00
41	Holder, Ericka N. Lancaster Co	<b>Lancaster Co</b> – DUI 2 <sup>nd</sup> , Refusal to Submit Breath, Making False Report, Obstructing Police, DUR, Willful Reckless Driving, FTA, Interlock Violation	06-28-24 1045	WCSO	06-11-80		\$5,000.00 10% \$500.00 \$3,000.00 10% \$300.00 \$2,500.00 10% \$250.00
42	Brown, Tatianna M. Lancaster Co	Lancaster Co- Assault on Health Care Prof. 3 <sup>rd</sup> Degree	07-12-24 1043	WCSO	02-19-97		\$2,500.00 10% \$250.00
43	Delaney, Alisha R. Lancaster Co / Pott Co Hold	<b>Lancaster Co-</b> Probation Violation x3, <b>Pott. Co-</b> FFJ	08-30-24 1127	WCSO	02-26-91		NO BOND
44	Ruel, Mallory L. Lancaster Co / Sentenced	Lancaster Co- Obstructing Court Order	08-30-24 1143	WCSO	07-14-88		<b>Release Date</b> 09-16-24 @ 0800
45	Sorensen, Stacey L. Lancaster Co / Sentenced	Lancaster Co- Theft by Unlawful Taking	09-06-24 1022	WCSO	11-03-79		<b>Release Date</b> 09-22-24 @ 0800
46	Lafler, Crystal L. Lancaster Co / Sentenced	Lancaster Co – Probation Violation	08-13-24 1000	WCSO	11-05-82		<b>Release Date</b> 09-23-24 @ 0800
47	Dereus, Tia M. Lancaster Co / Sentenced	Lancaster Co – Probation Violation	08-23-24 1100	WCSO	07-02-93		<b>Release Date</b> 10-16-24 @ 0800
48	Lodwig, Shayna C. Lancaster Co / Sentenced	<b>Lancaster Co-</b> 3 <sup>rd</sup> Degree Assault on Health Care Provider	07-09-24 1028	WCSO	12-31-01		<b>Release Date</b> 10-04-24 @ 0800

Signed:\_\_\_\_\_

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
49	Ponce, Jennifer S. Lancaster Co / Sentenced	Lancaster Co- 3rd Degree Domestic Assault	08-13-24 1000	WCSO	11-27-73		<b>Release Date</b> 10-07-24 @ 0800
50	Parker, Shauna A. Lancaster Co / Sentenced	Lancaster Co- Attempted Poss Controlled Substance	07-30-24 1127	WCSO	08-21-81		<b>Release Date</b> 10-20-24 @ 0800
51	Janda, Josey K. Lancaster Co / Sentenced	<b>Lancaster Co-</b> Theft By Unlawful Taking	08-02-24 1041	WCSO	05-04-90		<b>Release Date</b> 10-22-24 @ 0800
52	Martinez, Elizabeth A. Lancaster Co / Sentenced	Lancaster Co Warrant- FTA	08-13-24 1000	WCSO	03-03-82		<b>Release Date</b> 10-31-24 @ 0800
53	Whitted, Kimberly J Lancaster Co / Sentenced	Lancaster Co- Poss. Controlled Substance, DUI-Drugs	07-16-24 1009	WCSO	02-09-66		<b>Release Date</b> 11-08-24 @ 0800
54	White, Lavega Lancaster Co / Sentenced	Lancaster Co- Poss. Controlled Substance, Violate Harassment Order	05-21-24 1352	WCSO	08-04-86		<b>Release Date</b> 11-18-24 @ 0800
55	Johnson, Ann M. Lancaster Co / Sentenced	Lancaster Co- Theft by Unlawful Taking	06-06-24 1544	WCSO	12-26-68		<b>Release Date</b> 12-06-24 @ 0800
56	Sabin,Cristel D. Lancaster Co / Sentenced	Lancaster Co- Attempted Tampering With Evidence	07-19-24 0959	WCSO	06-27-78		<b>Release Date</b> 12-30-24 @0800
57	Bowman, Beverly S. Lancaster Co / Sentenced	<b>Lancaster Co -</b> Failure to Appear for District Court	08-23-24 1100	WCSO	06-18-77		<b>Release Date</b> 01-27-25 @ 0800
58	Ironcloud, Amanda R. Lancaster Co / Sentenced	<b>Lancaster Co-</b> Attempted Poss. Controlled Substance, Warrant- Theft By Shoplifting x2, District Court- Poss. Controlled Substance	08-13-24 1000	WCSO	04-19-80		Release Date 06-16-25 @ 0800 Appeal Bond- \$2,000.00 Cash District Court - \$20,000.00 Cash
59	Kinnett, Aubrey A. Lancaster Co / Senctenced	<b>Lancaster Co Warrant</b> - Shoplifting x3, FTA, Stealing Goods or Money	07-19-24 1001	WCSO	05-25-86		<b>Release Date</b> 04-02-26 @ 0800
60	Hudson, Austin C. <b>OPD</b>	OPD- FFJ	11-22-22 1757	WCSO	02-04-98		\$350,000.00 10% \$35,000.00

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
61	Jewell, Sonya L. <b>Saunders Co</b>	Saunders Co Warrant- FTA	09-06-24 1333	WCSO	01-04-67		NO BOND
62	Wilson, Caitlin T. Saunders Co / Pott Co Hold	<b>Saunders Co-</b> Probation Violation, Poss. Controlled Substance	8-16-24 1314	WCSO	05-05-94		NO BOND
63							
64							
65							
66							
67							
68							
69							
70							
71							
72							

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
73							
74							
75							
76							
77							
78							
79							
80							
81							
82							
83							
84							

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
85							
86							
87							
88							
89							
90							
91							
92							
93							
94							
95							
96							

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
97							
98							
99							
100							
101							
102							
103							
104							
105							
106							
107							
108							

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
109							
110							
111							
112							
113							
114							
115							
116							
117							
118							
119							
120							

Signed:

Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date

Signed:

Signed: